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How much of a 0.5% injection of midazolam is required when a dose of 15mg is p}escribed? g

Select one:
(O o2s5mL
() orsmL
O 25mL
@ 3omL
O 15mL
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Paediatric suspensions of phenytoi

Select one:

O 15mL

(O 105mL
O 12.0mL
@ 17.5mL
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Select one:

O wermL @

() s06mL

O 606mL
O 630mL
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in conta(n 30 mg/5 ml. Rpe required oral dose of phenytoin is 7 mg/kg/day given as two divided doses, y_lf_\mgmmg_qf
which mixture should each dose be so that i ommended dose to a child weighing 30 kg? ]
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Ferrous Sulfate Mixture APF contains 3% ferrous sulphate If a patient is required to take 10ml three times a day, how much elemental iron are they ingesting
eeeee—
on a daily basis? g
e ————

(FeS0O4.7H,0; MW =278; Fe; AV\( = 55.8)
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